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1) 12X+ 1 9) (2X+3)(X +3) 1) 2X+ 5 9) (2X +3)(X +5)
X X+ 1 - Dtrac\i/vintgs h1‘or|42:f,9-16t.are ntot ghclgzvtr:1 x  X+1 The student should continue to
— T e student should continue to build the _— build th bl i
X+1 2X +1 problems as illustrated at left. X+1 2X +5 |el#_ S pEREme s |!Igsﬁated :
2X2+ X 2X + 3 2X2 + 5X X+ 3
2 x X+ 3
X 41 2X2 + 3X + 1 e X 15 2X2 +7X + 5 x10XX+155>
+
2) 3X + 1 2X2 4 3X 2) (BX+2)(X+3) 5X + 2 OX2 + 3X
X e EarT e 2
_— . +9X + _—
i 12X + 4 15X + 6 BEH AT D
+ 3X2 + X 10) (4X+1)(X +2) 5X2 4 2X 10) 5(X +7)(X +3)
3X2 + 13X + 4 < 4;((1; 5X2 + 17X + 6 X+ 7
+ 2X +1 33X+ 21
2 = 2
3) 4X2+8X+4=4(X2+2X +1) X+ 1 4X2 4+ X X X+5 X2 + 7X
X )>(<+11 4X2 49X + 2 X+5 21OX+5 X2 + 10X + 21
X+1 x2+x+ 1) (BX+4)(X +2) 2———)(2;( :1); 11) 6(X +4)(X +2)
3X 4 + +5
X2 42X + 1 o 2X + 1 . o
X+1 BT 4) (4X+1)(X +3) X+ 1 e
4 2X + 1 3X2 4 4X _x X+3 X2 + 4X
1 eai0xes T2 )
10X %5 _AXeaX ki
X+5 2X2 + X 12) 2(X2 + 7X + 10) = 2(X + 2)(X + 5) 4X2 + 13X + 3 12) (38X +8)(X +2)
2X2 + 11X +5 . §I§ 5) 2(X2 + 8X + 15) = 2(X + 3)(X + 5) § 3;‘(:3
2X+1 T— 0 ——
5) + 10 H X+ 5 6X + 16
2X+ 3 Xe+2X M x X+ 3 3X2 + 8X
X X+ 6 X2 +7X + 10 X+ 3X +15 3X2 + 14X + 16
12X + 18 13) (2X +1)(X +3) ____xz % 5% 13) 2(2X + 1)(X + 3)
X+6 2X2+3X 2X + 1 X2+8X+16 2+ 1
2X2 + 15X + 18 x X+ 3 X+3 X X+3
2X +3 6X + 3 6) 3(X2+3X+2)=3X+1)(X+2) 6X + 3
8) 3X + 1 2X2 + X X+ 1 2X2 + X
N E 2X2 +7X + 3 ) 2X2 +7X + 3
6X + 2 X+2 2X + 2
X+2 o 14) (4X+3)(X +1) X2 4 X 14) (5X +2)(X +1)
S — 4X + 3 5X+ 2
2 . X2 +3X 42
e 3X2 +7X+2 x X+ 1 X 1 1 S x X+ 1
7) HHH 2X+ 5 . 4X+ 3 7) 2X+ 9 5X + 2
x X+ 2 AREHIX X X+ 1 5X2 + 2X
X+2 4X + 10 4X2 +7X +3 X+1 , 2X +9 X2 +7X + 2
2X2 + 5X 15) (2X+9)(X+2) BELH g (10X DX+ )
2X2 + 9X + 10 | 2X + 9 2X+9 EREHTIR 43 10X + 1
2X+5 x X+ 2 X X+1
Lk 8)
2 - 2 PR ST i,
8) 4X2 + 10X + 4 = 2(2X2 + 5X + 2) s YT RT a4 @ — 2
. 2O X X+ 7 0K+ X £
o e 2X2 + 13X + 18 oo 221X+14 10X2 + 11X + 1 %
oX2 4 X 16) (3X + 4)(X + 3) bk 2 T (4X +3)(X + 5) N
2X2+5X+2- (Check as above) 3X2 4+ 23X + 14 (Check as above) L
2X + 1 3X + 2 '
N
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1) (BX+4)(X+1)

X +1

3X+4

2) (2X+3)(X+2)

X+2

2X + 3

3) 2X2+8X+6

X+3

2X +2

4) 2X24+8X+8

X+2

2X +4
5) (3X+4)(X +3)

6) 3X +
+

3X2 + 4X
3X2 + 13X + 12

7) 4(X2 +6X +9) = 4(X + 3)(X + 3)

8) X +3
x X+ 3

3X +9
X2 + 3X

X2 +6X +9

9)

10)

11)
12)
13)
14)

15)

16)

17)

18)

19)

20)

@X + 1)(2X + 3)

2X + 1
Xx 2X + 3

6X +3

4X2 + 2X

4X2 +8X+3
B2+6-5 — B3
AB+C
X-3Y2X-1Y3X5 = XY5

ASA-2B1B2A-4 = A-3B3

6 x 1,000,000 + 8 x 10,000 + 2 x 1,000

+7x1100 =
6,082,000.07

Y=38~2X-1
see graph
m=3/2
(4) =3/2(0) + b
b=4

Y=32X+4 or 3X-2Y=-8
see graph
v 7 #e
| /
/

Al

h

rs
1
21 22 |
3
4

6 hours = 26
X hours = 2X

22D

1) (BX+5)(X+2)

9) X+3)(X+2)
10) X+ 3
X+2 x X+2
2X +6
X2 + 3X
38X +5 X2 +5X +6
2) 2(2X2 + 5X +2) = 2(2X + 1)(X + 2) 1) C-4+340 = -
12) 85-3=82
X+2
13) BSB2C-5B4C3 =B11C-2
2+t 14) D6C-4D2D4COC-2 =C-6D12
15) 8x104+6x103 +9x 102 + 4 x 101
3) 3X24+9X+6
16) Y=2/3X+2
see graph
X+2 17) m=2/3
gs) =2/3(-3) + b
=-1
Y=2/3X-1o0r 2X-3Y=3
3X+3 see graph
4)  6X2 +3X Y #16
3 A
P #17
'/
'/ /
<l
P X
2X +1 B r
A
§he
<1
3X
5) (BX+5)(X +1) 18)  weeks | dollars
2 $9
6) 3X + 5 3| s27
X X+ 1 41 $81
3X+5 5 18243
3X2 + 5X <l ol
i e weeks
3X2 +8X +5 19) -—13_1"’“3_
7) X+ 7)(X+1 2| 32
) ( it ) 5| 5
8) aX + 7 41 8
X X+1 5] 35
4X +7
4X2 + 7X 20) 20 weeks = 320
AX2 + 11X+ 7 = $3,486,800,000 (May be shown

on your calculator as 3.4868 x 109)
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1) (@X+3)(2X +3)

2X+3

2X+3
2) 2(X2+6X+8)=2(X+4)(X +2)

X+2

X+4
3) 2X2+4X+2

X+1

2X +2
4) 2X2 +14X + 20

X+5

2X +4
5) (4X + 3)(X +2)

6) 4X + 3 .
X X+2 T i
x X+2 3,
8X +6 [T;—\"‘.f;ﬁtir:«/,,u
4X2 4+ 3X
4X2 + 11X + 6

7) @X+1)(X +5)

8) 2X + 1
x X+5
10X +5

2X2 + X

2X2 + 11X +5

10)

11)
12)
13)
14)

15)

16)

- 17)

19)

20)

X+ 3)(X+1)

X +3
x X+1

X +3

e
X2 +4X +3

B2+6-5C2-5 = B3C-3

Y5+A

D8C-3A-2A0D7C-2 = A-2C-5D15
ASD-6A-7C3D8 = A2C3D2

3x 100,000 +5x 1 +2x 1/100
+8x1/1000 =
300,005.028

Y=-4/5X+2
see graph

m = 5/4

(-2) =5/4(1) + b

b=-13/4

Y =5/4X-13/4 or 5X-4Y =13
see graph

Y

L,#w
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#16

day |grams

BN =
-
n
(4]

day |grams

HWON =
()]
w

8 days = 58
Y days = 5Y

X-5
2) (X-§)(X-1)
E= i

|

X-1

X- 5
X X- 2
22X + 10

X2 - 5X

X2 -7X +10

X-6
X X-1

-X+6
X2 - 6X

X2-7X+6

X -4
x X-3

-3X + 12
X2 - 4X

X2-7X + 12

" X -8

X+8
X2 - 8X

X2-9X +8

X-8
6) (X-7)(X-3)

7). (X-9)(X-3)

X-7

il

X~ 7
x X-3
-3X + 21

X2 - 7X

X2 - 10X + 21

X-9

-6X + 27
X2 -9X

X2 -12X + 27

x X-1

x X-3

9)

10)

11)

X-5)(X - X- 5
K808 X5

-6X + 30
X2 - 5X
X2 -11X + 30

(X-9)(X-10) X- 9
X X-10
-10X + 90

X2 -9X

X2 -19X + 90

X- 11
x X- 8

-3X + 33
X2 - 11X

X2-14X+33

X-11)(X - 3)

(X+7)(X-3)

X +7

-3X -21

-3 X2 + 7X

X2 +4X - 21
X+7

(X +7)(X-5) Continue to check by
multiplying.

(X +6)(X-3)

(X-9)(X +4)

(@X + 1)(X - 5)

X -

2X +1
16) (2X-3)(X +4)
X+4

2X -3

X X-3
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